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Data Sheet:  

 

 

𝑵𝒐. 
𝑬  

(𝒅𝒚𝒏𝒆𝒔) 

𝑹  

(𝒅𝒚𝒏𝒆𝒔) 

𝑸 

 (𝒅𝒚𝒏𝒆𝒔) 
𝜽𝟏 𝜽𝟐 

1 80000 50000 50000 37 35 

2 120000 100000 70000 35 54 

 

𝑹𝒄𝒐𝒔(𝜽𝟏) + 𝑸𝒄𝒐𝒔(𝜽𝟐) 𝑹𝒔𝒊𝒏(𝜽𝟏) − 𝑸𝒔𝒊𝒏(𝜽𝟐) 𝑼𝟏 𝑼𝟐 

80889 1412 1412 889 

123060 726 726 3060 
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Calculations: 

First Graph:        

𝑅𝑐𝑜𝑠(𝜃1) + 𝑄𝑐𝑜𝑠(𝜃2) = (50000 × cos (37 ̊))  + (50000 × cos(35 ̊)) =  80889 𝑑𝑦𝑛𝑒𝑠  

𝑅𝑠𝑖𝑛(𝜃1) − 𝑄𝑠𝑖𝑛(𝜃2) = (50000 × sin(37 ̊)) − (50000 × sin(35 ̊)) =  1412 𝑑𝑦𝑛𝑒𝑠  

𝑈1 = 𝑅𝑠𝑖𝑛(𝜃1) − 𝑄𝑠𝑖𝑛(𝜃2) = 1412 𝑑𝑦𝑛𝑒𝑠        

𝑈2 = 𝐸𝑚𝑒𝑎𝑠 − |[𝑅𝑐𝑜𝑠(𝜃1) + 𝑄𝑐𝑜𝑠(𝜃2)]| = |80000 − 80889| = 889 𝑑𝑦𝑛𝑒𝑠   

Second Graph:        

𝑅𝑐𝑜𝑠(𝜃1) + 𝑄𝑐𝑜𝑠(𝜃2) = (100000 × cos (35 ̊))  + (70000 × cos(54 ̊) =  123060 𝑑𝑦𝑛𝑒𝑠  

𝑅𝑠𝑖𝑛(𝜃1) − 𝑄𝑠𝑖𝑛(𝜃2) = (100000 × sin(35 ̊)) − (70000 × sin(54 ̊)) =  726 𝑑𝑦𝑛𝑒𝑠  

𝑈1 = 𝑅𝑠𝑖𝑛(𝜃1) − 𝑄𝑠𝑖𝑛(𝜃2) =  726 𝑑𝑦𝑛𝑒𝑠        

𝑈2 = 𝐸𝑚𝑒𝑎𝑠 − |[𝑅𝑐𝑜𝑠(𝜃1) + 𝑄𝑐𝑜𝑠(𝜃2)]| = |120000 − 123060| = 3060 𝑑𝑦𝑛𝑒𝑠  
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Result & Conclusion: 

1) 𝑈1 = 1412 𝑑𝑦𝑛𝑒𝑠, 𝑈2 = 889 𝑑𝑦𝑛𝑒𝑠 

2) 𝑈1 = 726 𝑑𝑦𝑛𝑒𝑠, 𝑈2 = 3060 𝑑𝑦𝑛𝑒𝑠 

3) 𝑇1 =, 𝑇2 = 
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